0001928181708999

0O hMEEZEXY 06—

2014 4F AL - L8 20

2| EM-3x+y—5=0%4, HEHr+3y—16=0%4f, BEM—c+20—-5=0%0LcTH. *i,
R £ &R £y DA% A, [Hifit £y & IEHHR £y D% B, Hff 6 & EIR by O3k C LU, mADLHSY
BCATALzikffe AD 9 5.

~ [ s
(1) ﬁAo)W@i(‘ -) 'ftBO)M“‘rii(ﬂ é) MC oML ((AX], [ ¥ ]

THD.

(2) "R ADOEXE /[ 7 | THY, HD@mﬂﬁci(‘ -)'cel%
(3) AABC OHifil - b
(4) AABC DN 1421 /| ZARNIERES T

/9 5

(1) x+3 (3x+5)~15=0 =+ x=0 g3 Y=5 . A(0.5)

s

AA+8Y ~20=0 . ‘
] S B 7 — o
_.) _31*.6’?-/5:0 X=7 nE 5? 4 ﬂ(d’,#)//
bX =~ /520
~x+2-(3x1r5)-5=0 wox=-~L, 203 Y=2 (1. 2)
. fw B 5 5
(2) BC-;-J,(’)(;: Dty & Y- Ly 4 * 3

x-zge 50 &0 BfRata) 0t 5) ADT e = VE
AD: 18727 AtiB3885 o2, AD: J=-2x+5

. 5 R R R " A
..Elx+;- 2X+ 5 a 2xEF rasl, f23 - 9(!.3)’,

B) $hshod s JBazdfmi -5t58173¢. ACo.0), B(3.-1).C(~1,~3)
LaABc= L] (-0-C1] =5

n

s

“) ¥t2trir¥<e. AABc= 5_‘:(,49+gc+¢,4)

L ahBe = (W v alE + ) = r(VE /)

s
() &), F(fE+vr) = § VS TRl
5¢z-1)

Trlmtoe Ve s

v




